Mento

; T ETN
o T 2 8 P e i

e b L

o & HEonHK, "’;‘;ﬁ.ﬁ"“.;,b?%” eyt

e
W

@
AT L Sl
ARV

3asTpaK o B
T — ngpfu?,t Lfen, Muessts s-8a, 1 Li,f:;‘:;r{b Hlramired M0 ? MuHBEaNbHEIE B-53, MT —
| 5 ) e i w 1 A4 D e T { -
paljBmaia r PlEenga M npalYnesagel © g g1 B2y C| A} F e Ca Pl Mgl Fe KA hakry )
xneb - = i " 3 i — a o A
56900 e | 4000 | 307 [3.04]032] 1944 | 9520 10.04]0.010.00/0.000.04/0.00 s.00 | 2600560 [oas| 000 |128] 240|000
Kawa
MOnodHan wa
928 f:‘;f::‘;‘:c 260.00 |15.001 064 |1a82| 3002 | 22720 [0.2200 20/1.61|0.06]0 960 21177 149|288 80(86.15|2.07]182.54]13 54{16.19|0.02
wacnom 260
{250110)
Kaxao ¢
724|moncsom 20000 | 837 | 307 | 342 | os0e | tas00 |o.oalo16}s 2ojo.ozjo orfo 05125 121 16,2031 00|C 961206 36| ¢ 00| 200|003
1_382
6089 :;;:ﬁ‘;ﬁf ¢ Vespolarr| 240|436 | 27ea | 15880 Jooalootfo ofoozjocelous| 1000|2260 |560{080) 075 |98 | 165|000
Oben ]
o Il S8 8-BE. Depr ElMTaMAHR, fAuHepansHbe B8, M
e bansHcEsHie F‘omi‘e“., £ Fdia, WiLeRsLe 8-8a, 1 ”';::::“ THMEMEL, M = HERANEHbELE —
peultnona . r RlBenikn| Xupt [Yrneaoau| * poan B1] B2 cl A E[MKF] Ca P Mg| Fel K{Mm (htkr) P
Xneb it i 2 i
8511 s ovionn 4000 | 236|272 052 | 1628 | swoo Joozjo.oof 0.00|0.0010.00/0.00) 4,20 | 18.96| 5.84 |0.47] 0.00 {0.0010.00 0.00
25 [BunsrpeT 10000 | 851 | 134 [1011| s8s | 12434 |0.05loo4r2 05|02} s4fo.oo|2s.68] 4108 18 53|a.77|111 16[3.05|0.27]0 60
a8 5 ] | 3 105j0.04]12 95(0.22{4 : : 5310, 05102
Bopu ¢
KanycTeih ¢
703\kapromenen | 25500 [14.44 482 | 893 | 1437 | 12860 |0.0500 0812 35]0.2712.50/0.0046.01} 58 06 | 2833 |1 24} 194 O0}5 B7105710.01
CO cMeTaHoR

25016
Tedprenwn

pybnexpe ¢ - = z 7 - o : 2
743 coyoon B0/50 190.00 |29.61| 747 | 8.37 8.05 13810 |0.03}0 06 0.00 |0.02|2.86]0.03|18.26] 78.80 | 13 66 |1
M_279

Kawa

rpeqHERan g . PREAT ) P
paccHnuaTaR 210,00 [11.78}12.25} 913 6012 377.91 020l0.18 0.00 o 03jo 86]0 11{21 07|290 40193 456 50378 16| 3 26{5.7010.02

302

HomMnor ua

cmEcH ¢ A e
CyxorhpyKTOR 20000} 453|057 | 00D | 322 126,05 (o.00j0 ool 0.00 joodjo ocjo ool 060 | 000 | GO0 |0 0DF 200 (0.0010.0010 00

M_349

41176184 57 |1 281002

70

=y

730




